Subtract by counting up
Sheet 1

Practise using Maths Frog to work out these subtractions.

Part A Part B Part C
100-95= 100 - 87 = 109 - 74 =

100-93 = 100 - 81 = 105 - 72 =
102 -98 = 112-90 = 134-99 =
104 - 95 = 114 -97 = 129 -96 =
105-97 = 113-95= 123-91=
108 - 98 = 115-98 = 118 - 88 =
105-90 = 108 - 86 = 116-82 =
110-96 = 105-81= 113-79=

103 -85= 111-76 =

104 - 89 = 133-97=

Challenge 128-95 =
Subtract 27 from 90. Subtract 27 from your answer. Subtract 27 from that answer.
Try doing the same, starting at 80 and subtracting 24 three times. 121-81=
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